Sub BerechneLaufzeit()

        Dim kapital As Decimal
        Dim zinssatz As Decimal
        Dim zielkapital As Integer
        Dim ergebnis_in_jahren As Integer
        kapital = txtKapital.Text

        zinssatz = txtZinssatz.Text

        zielkapital = txtZielkapital.Text

        If zinssatz > 0 Then
            Dim t_kapital As Decimal
            t_kapital = kapital

            While t_kapital < zielkapital

                t_kapital += t_kapital * (zinssatz / 100)

                ergebnis_in_jahren += 1

            End While
            txtErgebnis.Text = ergebnis_in_jahren

        Else
            MsgBox("Der Zinssatz ist kleiner Null")

        End If

    End Sub


nein





t_kapital += t_kapital * zinssatz/100


ergbnis_in_jahren += 1





Ausgabe Ergbnis_in_Jahren




















Ausgabe: „Der Zinssatz ist kleiner als Null“





Zinssatz > 0





While t_kapital < zielkapital


	


	

















Werte eingeben (Kapital, Zinssatz, Zielkapital)
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